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What Is Boundary Element Method ?
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O geometry node M the Nth constant

or linear element

American doctor ! Chinese doctor !
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Hypersingular integral equation and its applications
to computational mechanics
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Crack problem
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au(X) = C.P.vaT(s, x)u(s) dB(s) — R.P.vau (s,x)t(s)dB(s),x € B
?ﬁ s B A 5T A

at(x)=H. ij M (s, X)u(s) dB(s) —C. ij L(s, X)t(s)dB(s),x € B
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t(s) =
WZF}[EW J*T Tl 7

U (s, x) =U(x,5) T(s,x) =L(x,s) M (s, X) = M (X,S)
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U. U . Tij;'ﬁLji Mij;thi
= j U (s, X)dB(s)
T, jT(s X, )dB(s;) — ;0

jr o

L. = i L(sj , % )dB(s;) + 0,

M, =] M(s;. %)dB(s;)
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J,, @u(9dBX) = [ CPV[ T(sx)u(s)dB(s)IB(x)

B(s)

-[ RPV jB(S)u (s, X)t(s) dB(s)dB(x),x € B

B(x)
J,, B =] HPV] M(sx)u(s)dB(s)dB(x)

- [, CPV[  L(s,t(s)dB(s)dB(x), x € B

B(x)
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ue :jsm IB(S)U(sj,xi)dB(sj)dB(xi)
T2 = Lo T(55%)dB(s)dB(x) = [, au(x)dB(x)
12) Lm JB(S) L(s;,%)dB(s;)dB(x) +J; jB(X) at(x,)dB(x;)
I\/Ii§2) :IB(X) L(S) M(s;, x;)dB(s;)dB(x;)
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For Dirichlet B.C. (u=1)
Using the UT formulation

U i§2){t} = Tij(Z){U} ={a}

4

For Neumann B.C. (t=t)
Using the LM formulation

M {u} = LO{E} = b}
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Mixed type B.C.

T (2) U @) 1(u
V] (2) L(2) t
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